

Live on Summationsymbolen Σ

1/2

Defn $\sum_{k=k_0}^n a_k \equiv a_{k_0} + a_{(k_0+1)} + a_{(k_0+2)} + \dots + a_{(n-1)} + a_n$

Satz (Arithmetische Summe)

$$\sum_{k=1}^n k = 1 + 2 + 3 + \dots + (n-1) + n = \frac{n(n+1)}{2}$$

B! $S \equiv 1 + 2 + 3 + \dots + (n-1) + n$
 $S = n + (n-1) + (n-2) + \dots + 2 + 1$

$$\begin{aligned} 2S &= n+1 + n-1+2 + n-2+3 + \dots + n-1+2 + n+1 \\ &= \underbrace{(n+1) + (n+1) + (n+1) + \dots + (n+1) + (n+1)}_{n \text{ terms}} = n(n+1) \end{aligned}$$

$\therefore S = \frac{n(n+1)}{2}$

Satz (Arithmetische Summe)

Annahme beweis: $(k+1)^2 = \text{Quadratsformel} = k^2 + 2k + 1 \Rightarrow (k+1)^2 - k^2 = 2k + 1 \Rightarrow (k+1)^2 - 1^2 =$
 $= (k+1)^2 - 1^2 + (k^2 - (k-1)^2) + \dots + (2^2 - 1^2) =$
 $= \sum_{k=1}^n ((k+1)^2 - k^2) = \sum_{k=1}^n (2k + 1) = 2 \sum_{k=1}^n k + \sum_{k=1}^n 1 =$
 $= 2 \sum_{k=1}^n k + n \Rightarrow \sum_{k=1}^n k = \frac{(n+1)^2 - 1 - n}{2} = \frac{n^2 + 2n + 1 - 1 - n}{2}$
 $= \frac{n^2 + n}{2} = \frac{n(n+1)}{2}$